C:# Vergleich mit absoluten Werten

Name:

Benutze >, < und = um zu vergleichen. Antworten
D 73 34 .
2 |19 80| ,
3 |37] 42 ,
4) |65 |96

- 4,
 |-72| |83 i
6 -39 -62 A
0 126]  |27] ,
8 -38  -43 .
9) _6—|5| 9.
100 83 -18 o
1D |54 |45 "
12) 161]  -60 »
13 9 |3 N
14) 93 26 "
9 3 |79 .
16) 42 -7 .
1) 41 |19 .
18) jo5| 40| .
19 169 |-27| o
20) 24| 65 .
[ Mathe Y\ commoncoresnestsae 9 1120 [ 403055 20 15]20] 5 0




C:# Vergleich mit absoluten Werten

Name: L Osungsschlissel
Benutze >, < und = um zu vergleichen. Antworten
D 73 > 34 . S
2 |-19] < I80| , <
3 |-37| < 42 , <
4 |-65] < |-96| . <
5 |72 < |83 i -
6) -39 > -62 3 S
0 |26] < |27] § -
8) -38 > -43 . >
) _61|5| 0. <
10) 83 > -18 o S
1) 54| > |-45 L s
12) 61| > -60 » S
13 |9 > |3 . s
14) 93 > 26 " S
15 3 < |79 . <
16) 42 > -7 . S
17) .41 < |19 . <
18) |o5] > 40| " S
19) 69| > |-27| N S
20) |24 < 65 20, <
[ Mathe Y\ commoncoresnestsae 9 1120 [ Ta0lss [0 20 15 20 51 0




